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EARR L ¢ 250 m 0.550 0.550 1.100 L1 Bomit
yinT ¢ 400 AT 2 1 3 3
i T =y AT 2 1 3 3| L=2.4m/f&#T
i T TAF=7V—h & AT 0 0 0 0| L=2.8m/f&dT
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1) HEEE FH £ $ 406.4X7.9 (STK)
[.=33.25 33.25 m 33.25 m
2) Mg b = L& [=1.20m/A
250 N=33.80/1.20 29.0 A 29 7N
NEEZ O NT— é 250
N=33.80/1.20 28.0 & 28 |
4) A~— & 400- ¢ 250  N=11#/1.20m
N=33.25/1.20 27.0 & 27 |
2. e Kk S & HEE T
1) HEHET ¢ 400 [
L= 33.25 33.25 m 33.25 m
2) REFRANL é 250
L= 33.80 33.80 m 33.80 m
3) HESEAL SA/R A —
R ¢ 400- R 6 250
V=33.25X (0.406"2X 7 /4-0.267 2X 7 /4) 2.45 m3 2.45 m3
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" H " E = ¥ B
4) 35y HEERESMED =  455.0  mm
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3) P B S R T S 1 X
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1) PEHEVE R i 1 =
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1) e K ALFE 35 A 1 iy
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6. B L
6 250VU L.=1.00-0.45+0.75-0.75 = 0.55 m 0.55 m
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6. B L
6 250VU L.=1.00-0.45+0.60-0.60 0.55 m 0.55 m




P.2-1




P PG i SN \H: 0 ‘\ \ > . N E _;‘
SEHTELE T (S ) B E LR R P.2-2
Rl k- ik BANT | No. 1-6 FABUFENTHT No. 1-7 MiF&HESTHT & o=
RN - 2000
B ot =15t T m T
fi( EHEEEL LT | t=10cmPL T m? (AT~ |
AKXy W m? 2.6
1 R T
BXSy ekt m’ 11.4
TAT7 )V NHT | m® o.oo‘xﬁg.&i:%o.om
T Bty T i T~Ft E
+ w m®
MEE TG E T
B 7%
M TR E AT 1
FEWERERE T | &
=) 1R TP mm
* ul =50
1 SeEEr-v/) *
=)
-y i
o a2 FN
=y & m
% r—vr)” [A]
W&+ (N=30) m
Jééj
Rt (N=5) m
by r” FE AL HEPE+ (B<NZ30)  m
HEE 1+ (N=30) m
B £ (30<N=50) | m
)
T o) ST ¢ 1500 : 4. Tm/ & AT SR
W 62000 : 6. 3m/@&pr =P
O T F30-18-20N m®
ATABALSY T m’
=y Bl R m
=y ET el m 11.8
w797 t 0.01 0.87
%Jﬂfﬂ‘/ﬂ“" 3
ﬁi N ALES F18-8-25(20) m 0.41
Tl #ErT




No. 1-6 [l %YL P.2-3
5 H CHEE %o
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No. 1-7 WiZHESTHT P.2-5
IH H 1 TE = iy
$ 2000 (t=12) B —
1. + T - PEH A
A=2.090"2X 1 /4=3.43m?2
- PEHIE
H1= 7.020 m (GL&©)
1) &S T T AT 7L ik
t =bcm L =1(2.000+0.2) tan(22.5° ) X8=7.29 = m m
2)EdEEE L T T AT 7L Ntk
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+ SR AR
A=2.066"2X 1 /4=3.35m2
(MR L L8]
WRmR R

V= 3.35X1.114 = 3.73 m3

el
c NMLE EF =27 ) — b

Vo= 7/4X1.10072X0. 435

0.41 m3

sl A=
Vi= x/4X1.10072X0.134+ 7£/4X1.050"2X (1.114—0. 130—0. 435)

= 0.60 m3
B IR
V= 0.267°2X 7 /4X0.475 = 0.03 m3
V5= 0.267"2X 7 /4X0.475 = 0.03 m3
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V:V1— (V2+V3+V4+V5)
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P.4-2

ok EOAN L o= R F
B Nol-6 No.1-7 No.1-7
IH H (il IF B O ECFR) | 5O ECERD) | b0 )
HI|FLE REE+ m 7.261 6.343 6.363
WYE + m — — —
LX%E+ m — — —
a8 m 7.261 6.343 6.363
HEAE m 2.906 2.906 2.906
SlEhER m 4.355 3.437 3.457
EARG & m3 13.16 12.81 12.81
FEARS ZN 5 5 5
HEAE kl 3.554 3.459 3.459
1A%
EAE [$4 711 692 692
HEAS W T kl 3.554 3.459 3.459
(IA4D) [$4 711 692 692
IR kl 0 0 0
% =—1))) 34 0 0 0
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H H HoxE KX o=
HR AN T No.1-6 Rz HiH O (R i)k B T
Il FL & M+ 7.261 =7.261 7.261 m
e+ —m
VXE T —m
aF =7.261 7.261 m
HEANE =2.906 2.906 m
SlERER 7.261 — 2.906 =4.355 4.355 m
EARTS & [k 2.406 X 2.295-1.590"2 X 7 /4/2 =4.529
V= 4529 X 2.906 =13.16 13.16 m3
HEAAREL 4.529 +1.00 (m2/4) =4.53 5 A
B BEEE—
RRVETL pas
HEAZR pr EANZ:27.0% NfEi =4~8
F A =2.906+0.000=2.906m
WE+ EAEK:35.00% NfE=0~10
F A5 =0.000+0.000=0.000m
s 1 TEAE:35.00% NAE=10~30
F A5 =0.000+0.000=0.000m
HEAE R+ 2.906 X 4529 X 27.0% 3.554 Kkl
W 1 0.000 X 4,529 X 35.0% 0.000 ki
Mg 1 0.000 X 4529 X 35.0% 0.000 ki
&t 3.554 ki
1A YA & N= 3.554 X 1000+5= =710.8 711 1
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WYE + —m
L5+ — m
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S =0.000+0.000=0.000m
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wWE L 0.000 X 4.408 X 35.0% 0.000 ki
BE 0.000 X 4.408 X 35.0% 0.000 ki
&t 3.459 ki
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L5+ — m
&t =6.363 6.363 m
HEAE =2.906 2.906 m
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Bt BEEE—
PR pas
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wWE+ FEAZ:35.00% NfE=0~10
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S =0.000+0.000=0.000m
EAE R+ 2.906 X 4.408 X 27.0% 3.459 ki
wWE L 0.000 X 4.408 X 35.0% 0.000 ki
BE 0.000 X 4.408 X 35.0% 0.000 ki
&t 3.459 ki
1IARYDFEANE N= 3.459 X 1000-5= =691.8 692 1
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